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gqgffon A

Questbns 1 to 20 certry 2 marks eactl. For eactr guestion, four oplons are given. Orre
of hern b the conect ansuuer. It/hke lour cholce (1, 2, aor 4). shade the orrat (1, z, 3
or 4) on tlro oP{ical Answer Sheet Ali dlagnrarns are not drarrn to scate, (4O marks)

1 Ths value of the dbfi 0 h 56 013 is.*-.
(1) B

(z',) 60

(3) 600

(4) 6000 ()

2 Whlch of the follotfflng numbers when riounded to the nearest ten becomes
23 900?

(1)

{4
(3)

(4)

228d4

22895

23904

23 946 ()

ZI5

What is tlre missing number in the boX?

tr
I3

33

35

N
47

(1)

Q)

(3)

(4) ()

1



4. ln the number 12.#,tp dblt- b in tp tents Sacs-

(1)

(2)

(3)

(4)

1

2

3

4 ()

5. Wf$ch of tre fiotkff ing ls a factor of both 18 ard 43?

B

7

I
I

t1)

(2-)

(3)

(4) ()

S. ln the flgure, how many of the marked angles aro rigtrt angles?

1

I
3

4 ( )

2 (Go on to the next page)

(r)

(2)

(3)

(4)



7. Whlcfr of lhe folbwing nurnbers is 600 lass rhan 76 891?

(1)

l2l
(3)

(4)

70 891

79291

76831

T7 491 ( )

8.

(1)

(2)

(3)

(4)

160

240

&+0

900 ()

I A jug contaim 120O mt #water and a ghss conlains 710 mt of waler- Hcnr,r
rnuch water will the jug atrt 2 such gbsses contaln?
(1) 14:e0_ N
(2) 1910 ml

(3) 24W rnt

(4) 262a d*. ( )

10. At a camlrral, overy 3td eh[d gets a cardy and every 6h chiH gets a balloon.
Whlch ctriH is the flrst b get both a cardy arrd a balbon?

(1)

(2'.,

(3)

(4)

6rt

gst

12b

1gt' t )

3

The difference in value befirreen 2 rn-lmbers Is r$8O. One of tlre numbbrs is 3
times the other number. Flnd the sum of the 2 numbers.



11- Allthe books in a library were packed inb boxes of 8- After packlng 112
boxes, there urere S books unpacked. l-low many books were tlrere atflrsn

890

Bgo

w?
go4

(1)

(2)

(3)

(4) )

e112. Alklo borshti [g i'1 uor.,k!r-:s. Benry bougfilt kg oil cookbs morethan

Alile. Horil many kilograms of cookles dH Benrry bt4/?

(4) 13 *n

(1)

(2)

(3)

3*n

4.
5xg

#rn
()

13. Cayden had $S4- He spenl $ of his inoney on a Btzle. How mucfr money

dld hCI have lefl?

(1)

(2,

(3)

(4)

$12

$28

&3s

s48 ()

a fGo on to the next page)



14. Which nurntior is 1.3 less than 4.56?

(1)

(2)

(3)

(4)

326

4.43

4.69

5.88 ( )

15. Anarqe the following decimab ln increasing 9-rd*.

7,012, 7.1 ,7.U2

(1)

(?)

(3)

(4)

7.O12

7.V2

7.1

7,1

7.1 , 7.02

7.1 , 7.A12

7.42 , 7.A12

7.012 , 7.O2 ( )

16. 1 pen mst as much as 4 onasers. Da;ury paid $8.4O for 1 pen and 3
erasers. Find the cost of 1 eraser.

(1)

(2')

(3)

(4)

$120

$2.10

$2fi
$4.80

17. ln wtricfr of the folhwlng figuree ls the dotted line a line of syrnmetrfl

(1)

(2)

(3)

(4)

ffi?ffis
5

6

7

I (

5

r)

I

)



18. Which of trefolbwing figures issymmeitrlcal?

--r-i
---+ - -

{'",.
:r
ft.;-'-|

A

B

c
D

(1)

(2)

(3)

(4) ( )

I

-G:-
'2:.

19. ln the flgpre behw, square ABGH and squaft) BCDG sre Henti{ral,
The lerryth of reciangb GDEF b trrics its breadth. What is the lengrth of
DE?

15 crn
A

?

EF

(1)

(2)

(3)

(4t

5cm

15 crn

30 crn

4.5 crn (

(Go on to the next page)
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m. St"yqlv?u standlng at point A Afiortrming throrgh an angle ot225o in an
antldochMse dlrecton, he uras fadng tho library. \ryhat uras he facirg at
firsf?

(1)

(2)

(3)

(4)

Park

Bakery

Pet Store

Supennarket ( i

Supennarket Plalground Library

ABakery Scfrool

Cllnlc Pa*Pel Stor.e

END OF SECTION A

7



$pq$qtt B

aueetbns 21 to 40 crrny 2 marks eacfi. Strow pur vmrkirg clearly ard wrfte
lour an$rrers in the spaces provitied. For quasdons wtrictr requiro un'rls, givo

)CIurarxilvers ln the urfrs stated. All dlagrams are r0tdrawn b scale. (4O ma*s)

21. Wdte trenty-fue thousand and thirteen in numerals.

2.. Some factors of 20 are 1,2,4 and 20. What aro the other two factons of
20?

Ans:

23.
D

g

Do rp{nrite
ln this spaco

1

J
+

B fGo on to the rrext page)



24. Find the rralue of 1
1

-2
1-e Do notwrito

inthb +acs

Ans:_

25. How rmny sixths are there ln 1 whole?

26- Express 0.93 as a fraclion.

I



27- Rourd 19.52 to the nearestwtple number- Do not rmile
lnthlsspes

28- Flnd tte valus of 17.36 x 3.

29. Measure and uvrite down the slze of za.

a

10 (Go on to the next page)



30- A nurnber hasthefactors 3 and 7.
Thei nunser is between 50 and 70. What is the number?

Jtr-e frftfr mulflple of a l{igit number is 14 more than its third rnuttiote.
What is the ldigil nurnber?

Ans:

Dorptwito
h thb space

31

32. Lionelhas 5 rnore stickers than Marco. Nathan has 4 times as many
stbkers as Maroo. Lbnel and Na*ran has 12O stickers ahogether. How
many stlckers does Marco have?

11

Ans:



a, Mefissa's rnoflthty salary 'rs thrice the armunt she spent h June.
Her mont*y salary b $8424, How muctr dH she sperd in Juno?

U. Studythe menu carafulty.

l-larry had $50- l-le bought 1 chicken sandruich and afruitJulce.

l-low much nronoy had he left?

Do notwrite
hthb spco

$2.70 $1.55

.r-. ; i'.'.i.-:i!';.'irr*: E

iffi

1? (Go on to the next page)



35.

36.

Parry used a total ol?1325 m of ribbon to make 6 simBar flowers and I
slmilar bours- How mucfr ribbon dld he use to maks 2 such flo\rrers and
3 suctr bours?

Do rptririlc
h this spaco

ilil r* *t
il4D4Drl D{}{X }dHF{

m

lsaac is 7 pars old and hls slster is 3 years old. ln how many years'
time will theirtotalage add up to 1B?

Ans:_ years

13



D

B c
q E

E

F

Look at the squara $t bobw and usa the infonnat on for queslion 37
and 38.

Do rptwito
in thb space

N

A

37

38.

Leo was starrding at polnt B. He walked I step to the north, then 3
siops to the westand finally I step to the south.
Whlci point dld he end up at?

(a) Polnt is northeast of B.

(b)Wfat is the direct'ron of E from C?

iI

14

Ans: (a

(Go on to the next page)



39. The fuure belcw is made up of 'xlenlical squares. Llno AB is the llna of
symmety. Shade three npre squar€s so that ths ffgurs is qfnrnetical.

40. Studytho flgure below. A square plece of paper was folded as shown
below.

Do rptyyrile
in thls space

BA

't
I
I
I
I
I
I
I
I

Each staternsnt below is tue, false or not possible to te[ from the
information glven. For each statemant, pd a tkk (r) in the conect
colunn.

x

Statement Truo False I l.lot pogsible
,to lell

a) zx ls 45"

b) zy ls equalto tz.

40

Total marks for question 21 to 4O

END OF SECTTON B

15



$eq{on_C
For Quesdons 41 to 45, stnw your rro*irg dsarty and write )qur answers in
the spaces proviled. The rxrmbef of marttg ayailaHe b strown in brackeb Il at
Sto erd of eadr guestion or partauedbn. All diagrains ars rpt drawn to scale.

(2O rnarks)

41. A t-shirt, a bag ard a cap coS $258- Tho bag costs $24 rnore than the
cap, The t-shlrt msts the same as the total rrahn of tro bag and Sn
cap. l-lnr muctr doss the cap cosf?

fuis: t4l

B? rul u,rite
hthb space

1B (Go on to the next page)



42. There nere somo candtes in a bag. Joseph took* of ths carrdies and

Kennytook the rest. Josep6 took 24 nrore candies ttran Kenny.

(a) What fractbn of the candies dkl lGnny take?

(b) l-hw many candles wore there in the bag at first?

Do not wrile
in tlrb space

11l

17

Ans:

(b)_..._,-._ t31



43, 1 watennelon ard 4 sFnilarapples wBighed 4.OE kg.
1 sucfr rnatennebn and 1 suctr appterrephed 3.4S kg.

(a) Iffhat was the mass of 1 sudr apple?

(b) Vtihat was the mass of 1 stclr watermelon?

Ans:

Do notwrite
ln lhbspace

l2l

18 /Ga an ln tha rrayl naocl



44. Tho llns graph shorvs the number of people who vi.sit€d a muset-rn in
6 yoars.

5000

Do noturil,e
h tris sp-ace

4000

Number

visitors
of

3@0

2000

1000

2014 2015 2A1B 2017 2018 2019

Year

(a) What was the increase in the number of people visiting the
museum from 2018 to 2019?

(b) Each tcket to the museum cost $8-
l-lory rnuch did the musaum collect from the sale of the tlckets in
zAM? .

0

121

t2l

,(io on Io tne next oaoel

\ ,

19

(b)



45. The patterns bebwars made up of ldenti0d shaded and
urhaded sguares.

Pa{bm 1 Pattem 2 Patern 3

a) Fillthe tablo for Patem 4.

b) What is the total number of shaded arrd urshaded squares in

Pattern 1O?

Ans:-14

END OF PAPER

20

Oo rtot wilo
in t*s space

t2l

Pattem
No

Numberof
shaded
square8

Numberof
unsfiaded
stltaIB8

Total nurder
ofsquares

1 12 4 1B

2 1B I 25
3 20 18 30
4 24



ANSWER KEY

LEVEL :

scHOOL :

SUBJECT :

TERM :

SECTION A

PRIMARY 4

CATHOLIC HIGH

MATHEMATICS
sA2

o
1+-
B

114
789

85 3

88 I

e1_

L00

17.36 x 3 = 52.08

120-5=115

w

ffi#

550-$4.2s=$cs.75

Q1 4 q2 3 4 Q4 3 Q5 1

q6 3 a7 2 4 Q9 4 Q1o 1

Q11 3 Q12 4 13 4 qlrt 1 Qls 4

Ql6 L Q17 4 Q18 2 Ql9 4 q20 2

!w #p&#ff# ff#ff#.&,s

q3

Q8

-*-=- F-=-
9?999

https://freetestpaper.com/


,,

23.25 +3=7.75
7+3=10
10+8=18
8+2=4 rs

a| Point D is north-east of B.

b) South

A

sEcTtoN c

Q3s
Q36

Q37

Q38

,P
%

Q4o

a)

b)

Statement t'rue False Not
possible to
tell

(xis45" {
( y is equal
to(z

J

Q41 24x2=48
256-{8=208
208 i i* =552
The cap cst $52

.lo 7 3
aI -_-F=-'10 10 10

l(enny took frotthe candies in the-!aS.-

b) 4units=24
lunits=24+4=6
10 units = 6O

There were 6O candies in the bag at first

Q42

Q43 a) 4.05 - 3.45 = 0.5
0.60+3=O-2

b) 3"45 -O.2 = 3,25k8

q44 a) 1600

bl 4000x8=S32oo0

f,

Q3e



Q4s a)

Nurnber of
shaded
s res

b) 10+3=13
13x13=169
There are a total of 169 square in figure 10.

Pattern No

1

Number of
unshCffi
squares

Total number
of squares

t2 4 15
2 16 9 25

? 20 16 E5
494 24 25


